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Answer All Questions in Part I and any three (03) questions from Part I1.

Non-scientific calculators could be used for basic mathematical calculations.
Part [

01.  List out four (04) benefits that teachers can gain by utilizing educational evaluation
methods in the teaching learning process.

02.  Explain using examples, what are “central tendency measures™
03.  Explain what is a “check list” in using an ¢xample.

04. List out five (05) characteristics of a normal probability curve,

05 L Explain in brief. what is a ‘table of specifications’

ii. Mention two (02) advantages of using a table of specifications when preparing a
test.

06.  Explain in brief, three (03) factors that influence psychomotor development.

07. Explain in briel, why assessment is more important compared to evaluation in the teaching
fearning process. in citing examples.

08. i Explain in brief what is a ‘diagnostic test’?
Ii. Explain how to craft a diagnostic test instrument citing an cxample from your

subject area.

(05marks x 8 =40 marks)
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Part I1

Explain what is meant by ‘technology based assessment’? (02 marks)

State two (02) benefits and tweo (02) challenges in conducting technology based
assessments in Sri Lankan secondary class room. (04 marks)

Suggest alternative strategies to overcome the challenges in technology based
assessment, mentioned in above (ii). (04 marks)

Describe in brief, three (03) instruments used in technology — based assessments
(06 marks)

Citing a suitable example from any subject content you prefer, explain how to
assess higher order thinking skills of students in secondary stage, using any one of
the above mentioned instruments. (04 marks)

Explain in brief what is meant by an “achievement test” (02 marks)

Discuss in brief the usefulness of achievement tests in classroom practices.

(02 marks)

a. What is meant by an ‘essay type test’ (02 marks)
b. Write three (03) advantages and three (03) disadvantages of essay type
tests. (06 marks)

c. Suggest suitable strategies to avoid each of those disadvantages. (03 marks)
a. Write an open essay type question, and convert it into a structured essay test
item. (03 marks)

b. Write two (02) advantages of that conversion. (02 marks)
i Describe what is meant by “affective development” {02 marks)
ii. Explain why it is difficult to measure affective development. (04 marks)
ii. Citing two examples, justify the importance of evaluating affective
development in the teaching learning process. (04 marks)

1. Discuss the difference between ‘attitudes’ and * interests’ (02 marks)
it Explain four (04) characteristics of an ‘attitude’ (04 marks)
iii. Name two (02) techniques used in the measurcment of attitudes and citing
an example, explain one of them. (04 marks)
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Briefly explain the importance of graphical representation of a frequency
distribution. (02 marks)

Following are the marks obtained by 40 students in a class at a year-end
examination.

21 | 43 66 69 37 16 55 72

65 | 41 53 83 53 58 10 33

54 | 25 | 40 75 45 30 35 66

75 | 65 51 28 50 66 89 51

90 | 47 | 55 40 62 26 60 70

Prepare a frequency distribution for the above set of marks taking (44 — 55) as one
of the class intervals. (02 marks)

Draw the cumulative frequency curve for the frequency distribution. (03 marks)
Calculate the mode and median of this distribution. (03 marks)

Considering the assumed mean of the above set of marks to be in the class interval

(44 — 55), calculate the arithmetic mean. (05 marks)
Calculate the standard deviation of the distribution of marks. (05 marks)
i Explain the terms ‘correlation” and *correlation coefficient’ (04 marks)
il What is meant by “perfect positive correlation™ (02 marks)

Marks obtained by 10 student for the subjects First Language and English Language
at a year end examination are given below.

Student A B C D E F G |H | J
Subject

First Language 67 164 |37 |69 |73 [62 |65 159 |68 |66

English Language [ 63 |60 |[52 |61 |63 |55 1[50 |55 |56 |75
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1. Calculate the Pearson’s product moment correlation coefficient for above marks.
(12 marks)
it. Interpret the value obtained for the correlation coefficient. (02 marks)

Marks obtained by 3500 students in an examination are distributed according to the normal
probability curve. The arithmetic mean and the standard deviation of the distribution are
50 and 15 respectively

i. Find the number of students who scored between 35 and 65 marks. (05 marks)
il. Find the number of students who scored between 60 and 70 marls, (05 marks)

1ii. If the best 5% of the students are expected to be given A grades what is the

minimum mark required to obtain an A grade? (05 marks)
v, If 65% of the students are to be passed the examination, calculate the cut-off mark
for passing the examination. (05 marks)
-Copyrights reserved-
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